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1. Refer to the graph above. Which of the following will shift the aggregate demand curve for the U.S. from AD1 to AD2?

  A. An economic boom in Europe.

  B. A drop in the price level.

  C. An increase in the exchange rate for the dollar.

  D. An increase in the interest rate.

2. Which of the following will cause a decrease in aggregate demand

in the United States?

A.   An increase in the price level. 

B.   An decrease in the real interest rate (due to increasing the nominal money supply).

C.   Improved expectations regarding the future of the economy.

D. A decrease in the expected rate of inflation.

3. If the intersection of aggregate demand and short-run aggregate

supply is to the right of long-run aggregate supply, in the long run

there will be a decrease in

A.   output prices.

B.   resource prices.

C.   output.

D. all of the above.
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4. Refer to the graph above. If the economy is initially at point A in the long run:  
A.   wages will fall and short-run aggregate supply will increase.

B.   wages will increase and short-run aggregate supply will fall.

C.   wages will fall and short-run aggregate supply will fall.
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 will increase and short-run aggregate supply will increase

5. Refer to the graph above. Which of the following will shift the LRAS curve from LRAS1 to LRAS2?

 A.  A decrease in the availability resources.

 B.  Improved technology.

 C.  A reduction in environmental regulations.

 D. All of the above.

6. If the economy is producing at less than the full-employment

output level (to the left of Y*), which of the following combination of changes will be most likely to move the economy toward the full-employment output level (Y*)?

A. an increase in the real interest rate and an increase in resource prices.

B. a decrease in the real interest rate and a decrease in resource prices.

C.   an increase in the real interest rate and a decrease in resource prices.

D. a decrease in the real interest rate and an increase in resource prices.

7. If the economy is at a an output level above the full-employment

level, the economy's self-corrective mechanism will cause

A.   the aggregate demand curve to shift to the left 

B.   the short-run aggregate supply curve to shift to the left.

C.   the aggregate demand curve to shift to the right.

D. the short-run aggregate supply curve to shift to the right
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8. Refer to the graph above.  Which of the following is true at point A on the consumption curve?

   A. Saving is negative.

   B. Saving is positive.

   C. Saving is zero.

   D. Saving is equal to consumption.

9. If the marginal propensity to consume is 0.80 and the economy is

in a deep recession, the Keynesian model indicates that a $50 billion

increase in government spending ultimately cause GDP to

   A. increase by $250 billion.

   B. increase by $50 billion.

   C. decrease by $50 billion.

   D. decrease by $40 billion.

10. The crowding-out model implies that stimulatory fiscal policy will

A.   be highly inflationary.

B.   increase the real interest rate.

C.   crowd out private investment spending.

D. have a substantial impact on the economy through the multiplier effect.

11. Automatic stabilizers will cause the budget deficit to

  A. increase during an inflationary gap or recessionary gap.

  B. decrease during an inflationary gap or recessionary gap.

  C. decrease during an inflationary gap and increase during a  recessionary gap.

  D. increase during an inflationary gap and decrease during a recessionary gap.  

Key:

1. A

2. B
3. C

4. A

5. A
6. B

7. B

8. D

9. A

10. C

11. C
